						Est.	Unit	Extended	Installed	Unit	Extended
Agency	Contract Number	Vendor	Item Number	Item Description	Product Code	Qty	List	List	Discount	Net	Net
State of FL	425-001-12-12	Herman Miller Inc	G6136.60S	Utility Task Light	Α	1	\$267.00	\$267.00	65.77%	\$91.39	\$91.39
State of FL	425-001-12-12	Herman Miller Inc	AS4SSN	Side Chair, 4-Leg Base	AV	152	\$461.00	\$70,072.00	53.13%	\$216.07	\$32,842.75
State of FL	425-001-12-12	Herman Miller Inc	ET158L	Eames Table Segmented Base Oval	F	1	\$4,664.00	\$4,664.00	66.53%	\$1,561.04	\$1,561.04
State of FL	425-001-12-12	Herman Miller Inc	ET156L	Eames Table Segmented Base Oval	F	1	\$3,229.00	\$3,229.00	66.53%	\$1,080.75	\$1,080.75
State of FL	425-001-12-12	Herman Miller Inc	ET143L	Eames Table Segmented Base Rectangular	F	1	\$1,747.00	\$1,747.00	66.53%	\$584.72	\$584.72
State of FL	425-001-12-12	Herman Miller Inc	ET127L	Eames Table Segmented Base Round	F	1	\$3,317.00	\$3,317.00	66.53%	\$1,110.20	\$1,110.20
State of FL	425-001-12-12	Herman Miller Inc	ET123L	Eames Table Segmented Base Round	F	1	\$1,158.00	\$1,158.00	66.53%	\$387.58	\$387.58
State of FL	425-001-12-12	Herman Miller Inc	ET123L	Eames Table Segmented Base Round	F	1	\$1,158.00	\$1,158.00	66.53%	\$387.58	\$387.58
	425-001-12-12	Herman Miller Inc	ET122L	Eames Table Segmented Base Round	F	1	\$1,056.00	\$1,056.00	66.53%	\$353.44	\$353.44
		Herman Miller Inc	ET122L	Eames Table Segmented Base Round	F	1	\$1,056.00	\$1,056.00	66.53%	\$353.44	\$353.44
		Herman Miller Inc	ET122L	Eames Table Segmented Base Round	F	2	\$1,056.00	\$2,112.00	66.53%	\$353.44	\$706.89
		Herman Miller Inc	ET122L	Eames Table Segmented Base Round	F	1	\$1,056.00	\$1,056.00	66.53%	\$353.44	\$353.44
		Herman Miller Inc	ET122L	Eames Table Segmented Base Round	F	1	\$1,056.00	\$1,056.00	66.53%	\$353.44	\$353.44
		Herman Miller Inc	ET122L	Eames Table Segmented Base Round	F	1	\$1,056.00	\$1,056.00	66.53%	\$353.44	\$353.44
		Herman Miller Inc	ET122L	Eames Table Segmented Base Round	F	1	\$1,056.00	\$1,056.00	66.53%	\$353.44	\$353.44
		Herman Miller Inc	ET122L	Eames Table Segmented Base Round	F	3	\$1,036.00	\$3,108.00	66.53%	\$346.75	\$1,040.25
		Herman Miller Inc	ET122C	Eames Table Segmented Base Round	F	1	\$1,355.00	\$1,355.00	66.53%	\$453.52	\$453.52
		Herman Miller Inc	ET122C	Eames Table Segmented Base Round	F	1	\$1,355.00	\$1,355.00	66.53%	\$453.52	\$453.52
		Herman Miller Inc	ZTVLA	Squared Vinyl Edge Oval Table Lam Top	F	1	\$3,214.00	\$3,214.00	66.53%	\$1,075.73	\$1,075.73
		Herman Miller Inc	FF300.4236142W04	Wood Freestanding Bookcase	FF	1	\$2,574.00	\$2,574.00	63.75%	\$933.08	\$933.08
		Herman Miller Inc	FF300.4236142W03	Wood Freestanding Bookcase Wood Freestanding Bookcase	FF	2	\$2,374.00	\$4,790.00	63.75%	\$868.19	\$1,736.38
		Herman Miller Inc	FF300.4236142W03		FF	3	\$1,525.00	\$4,790.00	63.75%	\$552.81	\$1,730.36
		Herman Miller Inc		Wood Vertical Storage Cobinet Thin Top	FF	3 1			63.75%	\$2,162.31	\$2,162.31
		Herman Miller Inc	FF50M.730202BLW4L	•	FF	1	\$5,965.00	\$5,965.00			
			FFC72K.72202BFW04			=	\$6,785.00	\$6,785.00	63.75%	\$2,459.56	\$2,459.56
		Herman Miller Inc	FF72K.72202BFW04L	Wood Low Credenza, with Drawers	FF	1	\$6,785.00	\$6,785.00	63.75%	\$2,459.56	\$2,459.56
		Herman Miller Inc	FF20K.3620FF2W04L	Wood Freestanding Lateral File	FF	1	\$3,623.00	\$3,623.00	63.75%	\$1,313.34	\$1,313.34
		Herman Miller Inc	FF20K.3620FF2W04L	Wood Freestanding Lateral File	FF	2	\$3,623.00	\$7,246.00	63.75%	\$1,313.34	\$2,626.68
		Herman Miller Inc	FF10K.20FF2W04L	Wood Freestanding Pedestal	FF	1	\$2,381.00	\$2,381.00	63.75%	\$863.11	\$863.11
		Herman Miller Inc	FF10K.20BBF2W04L	Wood Freestanding Pedestal	FF	1	\$2,455.00	\$2,455.00	63.75%	\$889.94	\$889.94
		Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
		Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
		Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
		Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	4	\$2,959.00	\$11,836.00	63.75%	\$1,072.64	\$4,290.55
		Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
		Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	2	\$2,959.00	\$5,918.00	63.75%	\$1,072.64	\$2,145.28
				Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	2	\$2,959.00	\$5,918.00	63.75%	\$1,072.64	\$2,145.28
	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
State of FL	425-001-12-12	Herman Miller Inc		Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	2	\$2,959.00	\$5,918.00	63.75%	\$1,072.64	\$2,145.28
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	2	\$2,959.00	\$5,918.00	63.75%	\$1,072.64	\$2,145.28
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	3	\$2,959.00	\$8,877.00	63.75%	\$1,072.64	\$3,217.91
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64

State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AFP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	4	\$2,959.00	\$11,836.00	63.75%	\$1,072.64	\$4,290.55	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	2	\$2,959.00	\$5,918.00	63.75%	\$1,072.64	\$2,145.28	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	• •	FM	3	\$2,959.00	\$8,877.00	63.75%	\$1,072.64	\$3,217.91	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL	425-001-12-12	Herman Miller Inc	FM73K.72204AEP03L	• •	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	3	\$2.959.00	\$8,877.00	63.75%	\$1,072.64	\$3,217.91	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	2	\$2,959.00	\$5,918.00	63.75%	\$1,072.64	\$2,145.28	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	2	\$2,959.00	\$5,918.00	63.75%	\$1,072.64	\$2,145.28	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	4	\$2,959.00	\$11,836.00	63.75%	\$1,072.64	\$4,290.55	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	7	\$2,959.00	\$20,713.00	63.75%	\$1,072.64	\$7,508.46	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	1	\$2,959.00	\$2,959.00	63.75%	\$1,072.64	\$1,072.64	
State of FL		Herman Miller Inc	FM73K.72204AEP03L	Metal Low Credenza, Open with Drawers	FM	3	\$2,959.00	\$8,877.00	63.75%	\$1,072.64	\$3,217.91	
State of FL		Herman Miller Inc	FM73K.72204AEP03L		FM	2	\$2,959.00	\$5,918.00	63.75%	\$1,072.64	\$2,145.28	
State of FL		Herman Miller Inc	FTS10.3072LS	Rectangular Surface	FT	1	\$513.00	\$513.00	63.75%	\$185.96	\$185.96	
State of FL		Herman Miller Inc	FTS10.3072LF	Rectangular Surface	FT	1	\$555.00	\$555.00	63.75%	\$201.19	\$201.19	
State of FL		Herman Miller Inc	FTS10.2490LS	Rectangular Surface	FT	1	\$480.00	\$480.00	63.75%	\$174.00	\$174.00	
State of FL		Herman Miller Inc	FTS10.2466LS	Rectangular Surface	FT	3	\$340.00	\$1,020.00	63.75%	\$123.25	\$369.75	
State of FL		Herman Miller Inc	FTS10.2460LS	Rectangular Surface	FT	8	\$299.00	\$2,392.00	63.75%	\$108.39	\$867.10	
State of FL		Herman Miller Inc	FTS10.2460LS	Rectangular Surface	FT	1	\$299.00	\$299.00	63.75%	\$108.39	\$108.39	
State of FL		Herman Miller Inc	FTS10.2460LS	Rectangular Surface	FT	1	\$299.00	\$299.00	63.75%	\$108.39	\$108.39	
State of FL		Herman Miller Inc	FTS10.2460LS	Rectangular Surface	FT	3	\$299.00	\$897.00	63.75%	\$108.39	\$325.16	
State of FL		Herman Miller Inc	FTS10.2460LS	Rectangular Surface	FT	1	\$299.00	\$299.00	63.75%	\$108.39	\$108.39	
State of FL		Herman Miller Inc	FTS10.2460LS	Rectangular Surface	FT	3	\$299.00	\$897.00	63.75%	\$108.39	\$325.16	
State of FL		Herman Miller Inc	FTS10.2460LS	Rectangular Surface	FT	4	\$299.00	\$1,196.00	63.75%	\$108.39	\$433.55	
State of FL		Herman Miller Inc	FTS10.2072WF	Rectangular Surface	FT	1	\$908.00	\$908.00	63.75%	\$329.15	\$329.15	
State of FL		Herman Miller Inc	FT299.S	Surface Support, Low Credenza, Adjustable He	FT	2	\$295.00	\$590.00	63.75%	\$106.94	\$213.88	
State of FL		Herman Miller Inc	FT298.S	Surface Support, Low Credenza, Fixed Height	FT	8	\$176.00	\$1,408.00	63.75%	\$63.80	\$510.40	
State of FL		Herman Miller Inc	FT298.S	Surface Support, Low Credenza, Fixed Height	FT	1	\$176.00	\$176.00	63.75%	\$63.80	\$63.80	
State of FL		Herman Miller Inc	FT298.S	Surface Support, Low Credenza, Fixed Height	FT	1	\$176.00	\$176.00	63.75%	\$63.80	\$63.80	
State of FL		Herman Miller Inc	FT298.S	Surface Support, Low Credenza, Fixed Height	FT	3	\$176.00	\$528.00	63.75%	\$63.80	\$191.40	
State of FL		Herman Miller Inc	FT298.S	Surface Support, Low Credenza, Fixed Height		1	\$176.00	\$176.00	63.75%	\$63.80	\$63.80	
State of FL		Herman Miller Inc	FT298.S	Surface Support, Low Credenza, Fixed Height	FT FT	3	\$176.00	\$528.00	63.75%	\$63.80	\$191.40	
State of FL		Herman Miller Inc	FT298.S	Surface Support, Low Credenza, Fixed Height	FT FT	3 4	\$176.00	\$704.00	63.75%	\$63.80	\$191.40	
				Surface Support, Low Credenza, Fixed Height	FT FT	3		\$704.00 \$528.00	63.75%	\$63.80	\$255.20	
State of FL State of FL		Herman Miller Inc Herman Miller Inc	FT298.R FT191.53	Wall Strip	FT	3	\$176.00 \$51.00	\$153.00	63.75%	\$03.60 \$18.49	\$55.46	
State of FL			FT191.53 FT422.1536	B-Style Shelf		2	\$51.00 \$182.00	\$364.00	63.75%	\$18.49 \$65.98	\$131.95	
State of FL		Herman Miller Inc Herman Miller Inc	FV980.WM2472R	•	FT FV	1	\$182.00 \$527.00	\$364.00 \$527.00	63.75%		\$131.95	
State of FL		Herman Miller Inc	FV980.WM2472R FV697V.66HW	Tackboard	FV FV	1	\$527.00 \$710.00	\$527.00 \$710.00	63.75%	\$191.04 \$257.38		
State of FL	420-001-12-12	neman willer inc	1 VUDI V. UUDIVV	Vary Easy Modesty Panel	ΓV	ı	φ/ 10.00	φειυ.υυ	03.13%	φ201.30	\$257.38	

_												
State of FL	425-001-12-12	Herman Miller Inc	FV697.66FW	Modesty Panel	FV	1	\$1,213.00	\$1,213.00	63.75%	\$439.71	\$439.71	
State of FL	425-001-12-12	Herman Miller Inc	FV689.P	Support Leg, Post	FV	2	\$162.00	\$324.00	63.75%	\$58.73	\$117.45	
State of FL	425-001-12-12	Herman Miller Inc	FV2A2.2AFS	Open Support Leg, Architectural Foot	FV	4	\$237.00	\$948.00	63.75%	\$85.91	\$343.65	
State of FL	425-001-12-12	Herman Miller Inc	FV2A2.2AFS	Open Support Leg, Architectural Foot	FV	16	\$237.00	\$3,792.00	63.75%	\$85.91	\$1,374.60	
State of FL	425-001-12-12	Herman Miller Inc	FV2A2.2AFS	Open Support Leg, Architectural Foot	FV	2	\$237.00	\$474.00	63.75%	\$85.91	\$171.83	
State of FL	425-001-12-12	Herman Miller Inc	FV2A2.2AFS	Open Support Leg, Architectural Foot	FV	6	\$237.00	\$1,422.00	63.75%	\$85.91	\$515.48	
State of FL	425-001-12-12	Herman Miller Inc	FV2A2.2AFS	Open Support Leg, Architectural Foot	FV	6	\$237.00	\$1,422.00	63.75%	\$85.91	\$515.48	
State of FL	425-001-12-12	Herman Miller Inc	FV2A2.2AFS	Open Support Leg, Architectural Foot	FV	2	\$237.00	\$474.00	63.75%	\$85.91	\$171.83	
State of FL	425-001-12-12	Herman Miller Inc	FV2A2.2AFS	Open Support Leg, Architectural Foot	FV	6	\$237.00	\$1,422.00	63.75%	\$85.91	\$515.48	
State of FL	425-001-12-12	Herman Miller Inc	FV2A2.2AFS	Open Support Leg, Architectural Foot	FV	8	\$237.00	\$1,896.00	63.75%	\$85.91	\$687.30	
State of FL	425-001-12-12	Herman Miller Inc	FV44M.WM1572W04L	Overhead Storage Cabinet, Thin Top with Hing	FV	1	\$4,290.00	\$4,290.00	63.75%	\$1,555.13	\$1,555.13	
State of FL	425-001-12-12	Herman Miller Inc	DT5AS.3048LT	Flip-Top Rectangular Table	IV	1	\$1,442.00	\$1,442.00	61.73%	\$551.85	\$551.85	
State of FL	425-001-12-12	Herman Miller Inc	DT3BS.3072LX	+Standing-Hght Square Table, Squared Edge, L	IV	2	\$1,225.00	\$2,450.00	61.73%	\$468.81	\$937.62	
State of FL	425-001-12-12	Herman Miller Inc	DT1DS.3672WE	Oval Table	IV	1	\$3,070.00	\$3,070.00	61.73%	\$1,174.89	\$1,174.89	
State of FL	425-001-12-12	Herman Miller Inc	DT1DS.3672LE	Oval Table	IV	1	\$1,982.00	\$1,982.00	61.73%	\$758.51	\$758.51	
State of FL	425-001-12-12	Herman Miller Inc	DT1DS.3672LE	Oval Table	IV	1	\$1,982.00	\$1,982.00	61.73%	\$758.51	\$758.51	
State of FL	425-001-12-12	Herman Miller Inc	DT1BS.3030LX	Square Table	IV	5	\$816.00	\$4,080.00	61.73%	\$312.28	\$1,561.42	
State of FL	425-001-12-12	Herman Miller Inc	DT1BS.3030LP	Square Table	IV	4	\$628.00	\$2,512.00	61.73%	\$240.34	\$961.34	
State of FL	425-001-12-12	Herman Miller Inc	DT1AS.3072LT	Rectangular Table	IV	1	\$1,265.00	\$1,265.00	61.73%	\$484.12	\$484.12	
State of FL	425-001-12-12	Herman Miller Inc	DT1AS.3072LT	Rectangular Table	IV	4	\$1,265.00	\$5,060.00	61.73%	\$484.12	\$1,936.46	
State of FL	425-001-12-12	Herman Miller Inc	DT1AS.3072LP	Rectangular Table	IV	4	\$974.00	\$3,896.00	61.73%	\$372.75	\$1,491.00	
State of FL	425-001-12-12	Herman Miller Inc	DT1AS.3066LT	Rectangular Table	IV	1	\$1,183.00	\$1,183.00	61.73%	\$452.73	\$452.73	
State of FL		Herman Miller Inc	DT1AS.3060LP	Rectangular Table	IV	8	\$851.00	\$6,808.00	61.73%	\$325.68	\$2,605.42	
State of FL		Herman Miller Inc	DT1AS.3048LT	Rectangular Table	IV	1	\$984.00	\$984.00	61.73%	\$376.58	\$376.58	
State of FL		Herman Miller Inc	DT1AS.3042LT	Rectangular Table	IV	1	\$937.00	\$937.00	61.73%	\$358.59	\$358.59	
State of FL		Herman Miller Inc	DT1AS.2472LT	Rectangular Table	IV	2	\$1,217.00	\$2,434.00	61.73%	\$465.75	\$931.49	
State of FL		Herman Miller Inc	DT1AS.2472LC	Rectangular Table	IV	4	\$1,217.00	\$4,868.00	61.73%	\$465.75	\$1,862.98	
State of FL		Herman Miller Inc	DT1AS.2448LT	Rectangular Table	IV	1	\$946.00	\$946.00	61.73%	\$362.03	\$362.03	
State of FL		Herman Miller Inc	DT1AS.2442LT	Rectangular Table	IV	3	\$901.00	\$2,703.00	61.73%	\$344.81	\$1,034.44	
State of FL		Herman Miller Inc	MRF123AWAF	Mirra? 2 Work Chair	LF	116	\$1,370.00	\$158,920.00	50.30%	\$680.89	\$78,983.24	
State of FL		Herman Miller Inc	MRF123AWAF	Mirra? 2 Work Chair	LF	11	\$1,373.00	\$15,103.00	50.30%	\$682.38	\$7,506.19	
State of FL		Herman Miller Inc	TPL-07220	Meridian? File Top	MF	1	\$338.00	\$338.00	56.18%	\$148.11	\$148.11	
State of FL		Herman Miller Inc	ZCELA	Exact Size File Top Squared Vinyl Edge Lam T	MF	1	\$880.00	\$880.00	56.18%	\$385.62	\$385.62	
State of FL		Herman Miller Inc	ZCELA	Exact Size File Top Squared Vinyl Edge Lam T	MF	1	\$379.00	\$379.00	56.18%	\$166.08	\$166.08	
State of FL		Herman Miller Inc	26-4220-3N	Standard-Pull Freestanding Lateral File	MF	1	\$1,468.00	\$1,468.00	56.18%	\$643.28	\$643.28	
State of FL		Herman Miller Inc	26-3020-3N	Standard-Pull Freestanding Lateral File	MF	1	\$1,197.00	\$1,197.00	56.18%	\$524.53	\$524.53	
State of FL		Herman Miller Inc	2KP-4220-4N	Bar-Pull Freestanding Lateral File	MF	2	\$1,844.00	\$3,688.00	56.18%	\$808.04	\$1,616.08	
State of FL		Herman Miller Inc	2KP-4220-4N	Bar-Pull Freestanding Lateral File	MF	1	\$1,844.00	\$1,844.00	56.18%	\$808.04	\$808.04	
State of FL		Herman Miller Inc	2KP-4220-4N	Bar-Pull Freestanding Lateral File	MF	2	\$1,844.00	\$3,688.00	56.18%	\$808.04	\$1,616.08	
State of FL		Herman Miller Inc	2KP-4220-4N	Bar-Pull Freestanding Lateral File	MF	2	\$1,844.00	\$3,688.00	56.18%	\$808.04	\$1,616.08	
State of FL		Herman Miller Inc	2KP-4220-4N	Bar-Pull Freestanding Lateral File	MF	2	\$1,844.00	\$3,688.00	56.18%	\$808.04	\$1,616.08	
State of FL		Herman Miller Inc	2KP-4220-4N	Bar-Pull Freestanding Lateral File	MF	3	\$1.844.00	\$5,532.00	56.18%	\$808.04	\$2,424.12	
State of FL		Herman Miller Inc	2KP-4220-4N	Bar-Pull Freestanding Lateral File	MF	4	\$1,844.00	\$7,376.00	56.18%	\$808.04	\$3,232.16	
State of FL		Herman Miller Inc	2KP-4220-4N 2KP-4220-3N	Bar-Pull Freestanding Lateral File	MF	2	\$1,468.00	\$2,936.00	56.18%	\$643.28	\$1,286.56	
State of FL		Herman Miller Inc			MF	2	\$1,400.00				\$957.91	
State of FL			2KP-4220-2N 2KP-4220-2N	Bar-Pull Freestanding Lateral File Bar-Pull Freestanding Lateral File	MF	1	\$1,093.00	\$2,186.00 \$1,093.00	56.18% 56.18%	\$478.95 \$478.95	\$478.95	
		Herman Miller Inc	2KP-4220-2N 2KP-3020-4N	Bar-Pull Freestanding Lateral File	MF	2	\$1,503.00				\$1,317.23	
State of FL State of FL			2KP-3020-4N 2KP-3020-4N	Bar-Pull Freestanding Lateral File	MF	1		\$3,006.00 \$1,503.00	56.18%	\$658.61 \$658.61	\$658.61	
State of FL		Herman Miller Inc	2KP-3020-4N 2KP-3020-4N	Bar-Pull Freestanding Lateral File Bar-Pull Freestanding Lateral File	MF	3	\$1,503.00 \$1,503.00	\$1,503.00 \$4,500.00	56.18%	\$658.61	\$1,975.84	
State of FL		Herman Miller Inc	2KP-3020-4N 2KP-3020-4N	Bar-Pull Freestanding Lateral File Bar-Pull Freestanding Lateral File	MF			\$4,509.00 \$1,503.00	56.18%		\$658.61	
State of FL		Herman Miller Inc		Bar-Pull Mobile Pedestal	MP	1 10	\$1,503.00 \$692.00	\$1,503.00 \$6,920.00	56.18% 53.15%	\$658.61 \$324.20		
Joiale OI FL	420-001-12-12	Herman Miller Inc	M1KP-1522-BF	Dai-Full Mobile Fedesial	IVI	10	φυθ2.00	φυ,ઝ∠υ.υ∪	53.15%	\$324.20	\$3,242.02	

State of FL	425-001-12-12	Herman Miller Inc	M1KP-1522-BF	Bar-Pull Mobile Pedestal	MP	2	\$692.00	\$1,384.00	53.15%	\$324.20	\$648.40	
State of FL	425-001-12-12	Herman Miller Inc	F1KP-1522-FF	Bar-Pull Freestanding Pedestal	MP	1	\$747.00	\$747.00	53.15%	\$349.97	\$349.97	
State of FL	425-001-12-12	Herman Miller Inc	F1KP-1522-FF	Bar-Pull Freestanding Pedestal	MP	6	\$747.00	\$4,482.00	53.15%	\$349.97	\$2,099.82	
State of FL	425-001-12-12	Herman Miller Inc	F1KP-1522-BBF	Bar-Pull Freestanding Pedestal	MP	1	\$774.00	\$774.00	53.15%	\$362.62	\$362.62	
State of FL	425-001-12-12	Herman Miller Inc	F1KV-1522-FF	Bar-Pull Freestanding Pedestal	MP	1	\$1,231.00	\$1,231.00	53.15%	\$576.72	\$576.72	
State of FL	425-001-12-12	Herman Miller Inc	F1KV-1522-BBF	Bar-Pull Freestanding Pedestal	MP	1	\$1,342.00	\$1,342.00	53.15%	\$628.73	\$628.73	
State of FL	425-001-12-12	Herman Miller Inc	46-4215-OB-29	Freestanding Bookcase	MS	2	\$813.00	\$1,626.00	51.63%	\$393.25	\$786.50	
State of FL	425-001-12-12	Herman Miller Inc	46-4215-OB-29	Freestanding Bookcase	MS	5	\$781.00	\$3,905.00	51.63%	\$377.77	\$1,888.85	
State of FL	425-001-12-12	Herman Miller Inc	46-3615-OB-29	Freestanding Bookcase	MS	1	\$699.00	\$699.00	51.63%	\$338.11	\$338.11	
State of FL	425-001-12-12	Herman Miller Inc	46-3615-OB-29	Freestanding Bookcase	MS	3	\$699.00	\$2,097.00	51.63%	\$338.11	\$1,014.32	
State of FL	425-001-12-12	Herman Miller Inc	46-3615-OB-29	Freestanding Bookcase	MS	1	\$699.00	\$699.00	51.63%	\$338.11	\$338.11	
State of FL	425-001-12-12	Herman Miller Inc	46-3015-OB-29	Freestanding Bookcase	MS	1	\$617.00	\$617.00	51.63%	\$298.44	\$298.44	
State of FL	425-001-12-12	Herman Miller Inc	4K-3620-42	Bar-Pull Storage Case	MS	2	\$1,077.00	\$2,154.00	51.63%	\$520.94	\$1,041.89	
State of FL	425-001-12-12	Herman Miller Inc	4K-3620-42	Bar-Pull Storage Case	MS	2	\$1,077.00	\$2,154.00	51.63%	\$520.94	\$1,041.89	
State of FL	425-001-12-12	Herman Miller Inc	4K-4220-69	+Bar Pull Storage Case, 42W 20D 65 5/8H	MS	1	\$1,657.00	\$1,657.00	51.63%	\$801.49	\$801.49	
State of FL	425-001-12-12	Herman Miller Inc	4K-4220-69	+Bar Pull Storage Case, 42W 20D 65 5/8H	MS	1	\$1,657.00	\$1,657.00	51.63%	\$801.49	\$801.49	
State of FL	425-001-12-12	Herman Miller Inc	4K-3620-69	+Bar Pull Storage Case, 36W 20D 65 5/8H	MS	2	\$1,607.00	\$3,214.00	51.63%	\$777.31	\$1,554.61	
State of FL	425-001-12-12	Herman Miller Inc	4K-3620-69	+Bar Pull Storage Case, 36W 20D 65 5/8H	MS	2	\$1,627.00	\$3,254.00	51.63%	\$786.98	\$1,573.96	
State of FL	425-001-12-12	Herman Miller Inc	OA100	Club Chair	OA	3	\$1,355.00	\$4,065.00	51.00%	\$663.95	\$1,991.85	
State of FL	425-001-12-12	Herman Miller Inc	OA300.21LP	Work Table	OA	1	\$468.00	\$468.00	51.00%	\$229.32	\$229.32	
State of FL	425-001-12-12	Herman Miller Inc	OA300.21LP	Work Table	OA	1	\$468.00	\$468.00	51.00%	\$229.32	\$229.32	
State of FL	425-001-12-12	Herman Miller Inc	OA300.21LP	Work Table	OA	1	\$468.00	\$468.00	51.00%	\$229.32	\$229.32	
State of FL	425-001-12-12	Herman Miller Inc	OA300.21LP	Work Table	OA	1	\$468.00	\$468.00	51.00%	\$229.32	\$229.32	
State of FL	425-001-12-12	Herman Miller Inc	OA300.21LP	Work Table	OA	2	\$468.00	\$936.00	51.00%	\$229.32	\$458.64	
State of FL	425-001-12-12	Herman Miller Inc	OA300.16LP	Work Table	OA	3	\$378.00	\$1,134.00	51.00%	\$185.22	\$555.66	
State of FL	425-001-12-12	Herman Miller Inc	OA200	Plywood Lounge Chair	OA	4	\$1,920.00	\$7,680.00	51.00%	\$940.80	\$3,763.20	
State of FL		Herman Miller Inc	AD10PB	Side Chair	PD	6	\$405.00	\$2,430.00	55.15%	\$181.64	\$1,089.86	
State of FL	425-001-12-12	Herman Miller Inc	CQ51MA	Multipurpose Chair	RY	212	\$818.00	\$173,416.00	50.60%	\$404.09	\$85,667.50	
State of FL	425-001-12-12	Herman Miller Inc	E1322.06E	Power Entry, External Direct Connect, 4 Circuit	U	1	\$171.00	\$171.00	65.77%	\$58.53	\$58.53	
State of FL	425-001-12-12	Herman Miller Inc	E1322.06E	Power Entry, External Direct Connect, 4 Circuit	U	1	\$171.00	\$171.00	65.77%	\$58.53	\$58.53	
State of FL		Herman Miller Inc	E1322.06E	Power Entry, External Direct Connect, 4 Circuit	Ū	1	\$171.00	\$171.00	65.77%	\$58.53	\$58.53	
State of FL		Herman Miller Inc	E1130.64N	Wall Strip	Ū	3	\$64.00	\$192.00	65.77%	\$21.91	\$65.72	
State of FL		Herman Miller Inc	E1130.64N	Wall Strip	Ū	3	\$64.00	\$192.00	65.77%	\$21.91	\$65.72	
State of FL		Herman Miller Inc	E1120.62	Draw Rod	Ū	2	\$28.00	\$56.00	65.77%	\$9.58	\$19.17	
State of FL		Herman Miller Inc	E1120.62	Draw Rod	Ū	2	\$28.00	\$56.00	65.77%	\$9.58	\$19.17	
State of FL		Herman Miller Inc	E1120.62	Draw Rod	U	2	\$28.00	\$56.00	65.77%	\$9.58	\$19.17	
State of FL		Herman Miller Inc	E1120.62	Draw Rod	Ü	3	\$28.00	\$84.00	65.77%	\$9.58	\$28.75	
State of FL		Herman Miller Inc	E1120.54	Draw Rod	Ü	2	\$24.00	\$48.00	65.77%	\$8.22	\$16.43	
State of FL		Herman Miller Inc	E1120.38	Draw Rod	Ü	2	\$23.00	\$46.00	65.77%	\$7.87	\$15.75	
State of FL		Herman Miller Inc	E1120.38	Draw Rod	Ū	4	\$23.00	\$92.00	65.77%	\$7.87	\$31.49	
State of FL		Herman Miller Inc	E1109.6242X	Bare Frame	Ū	1	\$243.00	\$243.00	65.77%	\$83.18	\$83.18	
State of FL		Herman Miller Inc	E1109.6236X	Bare Frame	U	1	\$234.00	\$234.00	65.77%	\$80.10	\$80.10	
State of FL		Herman Miller Inc		Bare Frame	Ü	4	\$234.00	\$936.00	65.77%	\$80.10	\$320.39	
State of FL		Herman Miller Inc		Bare Frame	Ü	2	\$234.00	\$468.00	65.77%	\$80.10	\$160.20	
State of FL		Herman Miller Inc		Bare Frame	Ü	3	\$234.00	\$702.00	65.77%	\$80.10	\$240.29	
State of FL		Herman Miller Inc		Bare Frame	Ü	2	\$220.00	\$440.00	65.77%	\$75.31	\$150.61	
State of FL				Bare Frame	U	1	\$220.00	\$220.00	65.77%	\$75.31	\$75.31	
State of FL		Herman Miller Inc	E1109.6230X	Bare Frame	U	3	\$220.00	\$660.00	65.77%	\$75.31	\$225.92	
State of FL		Herman Miller Inc	E1109.5436X	Bare Frame	U	2	\$223.00	\$446.00	65.77%	\$76.33	\$152.67	
State of FL				Bare Frame	U	2	\$209.00	\$418.00	65.77%	\$71.54	\$143.08	
State of FL				Bare Frame	U	2	\$186.00	\$372.00	65.77%	\$63.67	\$127.34	
1					_	_	+ . 55.55	÷3. 2. 00		+00.0 .	+	

State of FL	425-001-12-12	Herman Miller Inc	E1109.3836X	Bare Frame	U	4	\$186.00	\$744.00	65.77%	\$63.67	\$254.67	
State of FL	425-001-12-12	Herman Miller Inc	E1109.3830X	Bare Frame	U	1	\$180.00	\$180.00	65.77%	\$61.61	\$61.61	
State of FL	425-001-12-12	Herman Miller Inc	EWS10.3072LF	Rectangular Surface	U	1	\$554.00	\$554.00	65.77%	\$189.63	\$189.63	
State of FL	425-001-12-12	Herman Miller Inc	EWS10.3060LF	Rectangular Surface	U	1	\$438.00	\$438.00	65.77%	\$149.93	\$149.93	
State of FL	425-001-12-12	Herman Miller Inc	E2813.36L	Squared-Edge Corner Transaction Surface	U	1	\$689.00	\$689.00	65.77%	\$235.84	\$235.84	
State of FL	425-001-12-12	Herman Miller Inc	E1446.3836	Architectural Cladding, Veneer	U	2	\$800.00	\$1,600.00	65.77%	\$273.84	\$547.68	
State of FL	425-001-12-12	Herman Miller Inc	E1446.3036	Architectural Cladding, Veneer	U	2	\$678.00	\$1,356.00	65.77%	\$232.08	\$464.16	
State of FL	425-001-12-12	Herman Miller Inc	E1425.1642	Rail Tile	U	1	\$227.00	\$227.00	65.77%	\$77.70	\$77.70	
State of FL	425-001-12-12	Herman Miller Inc	E1425.1636	Rail Tile	U	2	\$205.00	\$410.00	65.77%	\$70.17	\$140.34	
State of FL	425-001-12-12	Herman Miller Inc	E1425.1630	Rail Tile	U	1	\$189.00	\$189.00	65.77%	\$64.69	\$64.69	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3242F	Face Tile	U	2	\$182.00	\$364.00	65.77%	\$62.30	\$124.60	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3236F	Face Tile	U	2	\$166.00	\$332.00	65.77%	\$56.82	\$113.64	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3236F	Face Tile	U	8	\$166.00	\$1,328.00	65.77%	\$56.82	\$454.57	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3236F	Face Tile	U	4	\$166.00	\$664.00	65.77%	\$56.82	\$227.29	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3236F	Face Tile	U	8	\$166.00	\$1,328.00	65.77%	\$56.82	\$454.57	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3236F	Face Tile	U	4	\$166.00	\$664.00	65.77%	\$56.82	\$227.29	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3236F	Face Tile	U	6	\$166.00	\$996.00	65.77%	\$56.82	\$340.93	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3230F	Face Tile	U	2	\$157.00	\$314.00	65.77%	\$53.74	\$107.48	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3230F	Face Tile	U	4	\$157.00	\$628.00	65.77%	\$53.74	\$214.96	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3230F	Face Tile	U	4	\$157.00	\$628.00	65.77%	\$53.74	\$214.96	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3230F	Face Tile	U	2	\$157.00	\$314.00	65.77%	\$53.74	\$107.48	
State of FL	425-001-12-12	Herman Miller Inc	E1420.3230F	Face Tile	U	6	\$157.00	\$942.00	65.77%	\$53.74	\$322.45	
State of FL	425-001-12-12	Herman Miller Inc	E1420.2442F	Face Tile	U	2	\$149.00	\$298.00	65.77%	\$51.00	\$102.01	
State of FL	425-001-12-12	Herman Miller Inc	E1420.2436F	Face Tile	U	2	\$142.00	\$284.00	65.77%	\$48.61	\$97.21	
State of FL	425-001-12-12	Herman Miller Inc	E1420.2436F	Face Tile	Ū	8	\$142.00	\$1,136.00	65.77%	\$48.61	\$388.85	
State of FL		Herman Miller Inc	E1420.2436F	Face Tile	Ū	4	\$142.00	\$568.00	65.77%	\$48.61	\$194.43	
State of FL		Herman Miller Inc	E1420.2436F	Face Tile	Ū	6	\$142.00	\$852.00	65.77%	\$48.61	\$291.64	
State of FL		Herman Miller Inc	E1420.2430F	Face Tile	Ū	4	\$128.00	\$512.00	65.77%	\$43.81	\$175.26	
State of FL		Herman Miller Inc	E1420.2430F	Face Tile	Ū	2	\$128.00	\$256.00	65.77%	\$43.81	\$87.63	
State of FL		Herman Miller Inc	E1420.2430F	Face Tile	U	6	\$128.00	\$768.00	65.77%	\$43.81	\$262.89	
State of FL		Herman Miller Inc	E1420.1636F	Face Tile	Ü	4	\$111.00	\$444.00	65.77%	\$38.00	\$151.98	
State of FL		Herman Miller Inc	E1420.1630F	Face Tile	Ü	4	\$101.00	\$404.00	65.77%	\$34.57	\$138.29	
State of FL		Herman Miller Inc	E1311.C	Receptacle, 4 Circuit, 15 Amp	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL		Herman Miller Inc	E1311.C	Receptacle, 4 Circuit, 15 Amp	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL		Herman Miller Inc	E1311.C	Receptacle, 4 Circuit, 15 Amp	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL		Herman Miller Inc	E1311.B	Receptacle, 4 Circuit, 15 Amp	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL		Herman Miller Inc	E1311.B	Receptacle, 4 Circuit, 15 Amp	Ü	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL		Herman Miller Inc	E1311.B	Receptacle, 4 Circuit, 15 Amp	Ü	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL		Herman Miller Inc	E1311.A	Receptacle, 4 Circuit, 15 Amp	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL		Herman Miller Inc	E1311.A	Receptacle, 4 Circuit, 15 Amp	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL		Herman Miller Inc	E1311.A	Receptacle, 4 Circuit, 15 Amp	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL				Side Cover	U	2	\$77.00	\$154.00	65.77%	\$26.36	\$52.71	
State of FL		Herman Miller Inc		Side Cover	U	8	\$67.00	\$536.00	65.77%	\$22.93	\$183.47	
State of FL		Herman Miller Inc		Side Cover	U	2	\$67.00	\$134.00	65.77%	\$22.93	\$45.87	
State of FL		Herman Miller Inc		Side Cover	U	8	\$67.00	\$536.00	65.77%	\$22.93	\$183.47	
State of FL		Herman Miller Inc		Side Cover	U	4	\$67.00	\$268.00	65.77%	\$22.93	\$91.74	
State of FL		Herman Miller Inc	E1263.36J	Side Cover	U	4	\$67.00	\$268.00	65.77%	\$22.93	\$91.74	
State of FL		Herman Miller Inc	E1263.36J	Side Cover	U	6	\$67.00	\$402.00	65.77%	\$22.93	\$137.60	
State of FL				Side Cover	U	2	\$61.00	\$122.00	65.77%	\$20.88	\$41.76	
State of FL				Side Cover	U	4	\$61.00	\$244.00	65.77%	\$20.88	\$83.52	
State of FL			E1263.30J	Side Cover	U	4	\$61.00	\$244.00	65.77%	\$20.88	\$83.52	
10:0:0 011 E	120 001 12 12		200.000	5.25 50701	3	•	ψο 1.00	Ψ2-7-1.00	00.17/0	Ψ20.00	Ψ00.02	

State of FL	425-001-12-12	Herman Miller Inc	E1263.30J	Side Cover	U	2	\$61.00	\$122.00	65.77%	\$20.88	\$41.76
State of FL	425-001-12-12	Herman Miller Inc	E1263.30J	Side Cover	U	6	\$61.00	\$366.00	65.77%	\$20.88	\$125.28
State of FL	425-001-12-12	Herman Miller Inc	E1260.42S	Frame Top Cap	U	1	\$26.00	\$26.00	65.77%	\$8.90	\$8.90
State of FL	425-001-12-12	Herman Miller Inc	E1260.36S	Frame Top Cap	U	3	\$24.00	\$72.00	65.77%	\$8.22	\$24.65
State of FL		Herman Miller Inc	E1260.36S	Frame Top Cap	Ū	6	\$24.00	\$144.00	65.77%	\$8.22	\$49.29
State of FL		Herman Miller Inc	E1260.36S	Frame Top Cap	U	4	\$24.00	\$96.00	65.77%	\$8.22	\$32.86
State of FL		Herman Miller Inc	E1260.36S	Frame Top Cap	U	2	\$24.00	\$48.00	65.77%	\$8.22	\$16.43
State of FL		Herman Miller Inc	E1260.36S	Frame Top Cap	U	3	\$24.00	\$72.00	65.77%	\$8.22	\$24.65
State of FL		Herman Miller Inc	E1260.30S	Frame Top Cap	U	3	\$23.00	\$69.00	65.77%	\$7.87	\$23.62
State of FL		Herman Miller Inc	E1260.30S	Frame Top Cap	U	2	\$23.00	\$46.00	65.77%	\$7.87	\$15.75
State of FL		Herman Miller Inc	E1260.30S	Frame Top Cap	U	1	\$23.00	\$23.00	65.77%	\$7.87	\$7.87
State of FL		Herman Miller Inc		Frame Top Cap	U	3	\$23.00	\$69.00	65.77%	\$7.87	\$23.62
State of FL		Herman Miller Inc			U	1	\$23.00 \$64.00	\$69.00 \$64.00	65.77%	\$7.67 \$21.91	\$23.02
State of FL				Finished End, Change of Height	U	1	\$57.00	\$57.00	65.77%		\$19.51
		Herman Miller Inc		Finished End, Change of Height	U	2	·			\$19.51	·
State of FL		Herman Miller Inc		Finished End	U	2	\$81.00	\$162.00	65.77%	\$27.73	\$55.45 \$55.45
State of FL		Herman Miller Inc	E1250.62S	Finished End	_		\$81.00	\$162.00	65.77%	\$27.73	\$55.45
State of FL		Herman Miller Inc		Finished End	U	1	\$81.00	\$81.00	65.77%	\$27.73	\$27.73
State of FL		Herman Miller Inc	E1250.62S	Finished End	U	3	\$81.00	\$243.00	65.77%	\$27.73	\$83.18
State of FL		Herman Miller Inc	E1250.54S	Finished End	U	2	\$77.00	\$154.00	65.77%	\$26.36	\$52.71
State of FL		Herman Miller Inc	E1250.38S	Finished End	U	1	\$71.00	\$71.00	65.77%	\$24.30	\$24.30
State of FL		Herman Miller Inc		Finished End	U	1	\$71.00	\$71.00	65.77%	\$24.30	\$24.30
State of FL		Herman Miller Inc		Wall Start	U	1	\$124.00	\$124.00	65.77%	\$42.45	\$42.45
State of FL	425-001-12-12	Herman Miller Inc	E1210.62	Wall Start	U	2	\$124.00	\$248.00	65.77%	\$42.45	\$84.89
State of FL	425-001-12-12	Herman Miller Inc	E1210.62	Wall Start	U	1	\$124.00	\$124.00	65.77%	\$42.45	\$42.45
State of FL	425-001-12-12	Herman Miller Inc	E1436.0836F	Cable Access Tile	U	2	\$139.00	\$278.00	65.77%	\$47.58	\$95.16
State of FL	425-001-12-12	Herman Miller Inc	E3213.60P	B-Style Flipper Door Unit	U	1	\$691.00	\$691.00	65.77%	\$236.53	\$236.53
State of FL	425-001-12-12	Herman Miller Inc	E3213.42P	B-Style Flipper Door Unit	U	1	\$541.00	\$541.00	65.77%	\$185.18	\$185.18
State of FL	425-001-12-12	Herman Miller Inc	E3213.36P	B-Style Flipper Door Unit	U	2	\$519.00	\$1,038.00	65.77%	\$177.65	\$355.31
State of FL	425-001-12-12	Herman Miller Inc	E3213.30P	B-Style Flipper Door Unit	U	1	\$451.00	\$451.00	65.77%	\$154.38	\$154.38
State of FL	425-001-12-12	Herman Miller Inc	E1230.62SE	3-Way 90? Connector	U	1	\$402.00	\$402.00	65.77%	\$137.60	\$137.60
State of FL	425-001-12-12	Herman Miller Inc	E1230.54SE	3-Way 90? Connector	U	1	\$380.00	\$380.00	65.77%	\$130.07	\$130.07
State of FL	425-001-12-12	Herman Miller Inc	E1220.62SSE	2-Way 90? Connector	U	1	\$319.00	\$319.00	65.77%	\$109.19	\$109.19
State of FL	425-001-12-12	Herman Miller Inc	E1220.62SSE	2-Way 90? Connector	U	1	\$319.00	\$319.00	65.77%	\$109.19	\$109.19
State of FL	425-001-12-12	Herman Miller Inc	E1220.54SSE	2-Way 90? Connector	U	1	\$309.00	\$309.00	65.77%	\$105.77	\$105.77
State of FL	425-001-12-12	Herman Miller Inc	E1220.38SSE	2-Way 90? Connector	U	1	\$272.00	\$272.00	65.77%	\$93.11	\$93.11
State of FL	425-001-12-12	Herman Miller Inc	E1220.38SSE	2-Way 90? Connector	U	2	\$272.00	\$544.00	65.77%	\$93.11	\$186.21
State of FL		Herman Miller Inc	WC904	Caper? Cart	WC	6	\$461.00	\$2,766.00	52.37%	\$219.57	\$1,317.45
State of FL		Herman Miller Inc	WC410N	Stacking Chair	WC	22	\$260.00	\$5,720.00	52.37%	\$123.84	\$2,724.44
State of FL		Herman Miller Inc	Y91171.CM	Flo? Single-Screen Monitor Arm Support	Z2	231	\$332.00	\$76,692.00	55.27%	\$148.50	\$34,304.33
State of FL		Herman Miller Inc	Y91103.13	JAW? Adjustable CPU Holder Assembly	Z2	115	\$238.00	\$27,370.00	55.27%	\$106.46	\$12,242.60
State of FL		Herman Miller Inc		Paper Tray	ZZ	424	\$30.00	\$12,720.00	55.27%	\$13.42	\$5,689.66
State of FL		Herman Miller Inc	Y1113.66YW	Modesty Panel	ZZ	1	\$884.00	\$884.00	55.27%	\$395.41	\$395.41
State of FL		Herman Miller Inc		Modesty Panel	ZZ	1	\$884.00	\$884.00	55.27%	\$395.41	\$395.41
State of FL	425-001-12-12	SitOnIt	6422K.A105	Prava, Midback, Knee Tilt Cntrl, A105 Arm	~~	7	\$878.00	\$6,146.00	55.00%	\$395.41	\$2,765.70
State of FL	425-001-12-1	OFS First Office	CC-M3052LE	Intermix 30x22x52 Lectern		3	\$3,569.00	\$10,707.00	49.00%	\$1,820.19	\$5,460.57
State of FL	425-001-12-1	OFS First Office	CC-M3052LE CC-M3052LE	Intermix 30x22x52 Lectern		1	\$2,703.00	\$2,703.00	49.00%	\$1,378.53	\$1,378.53
State of FL	425-001-12-1	OFS First Office	OO-IVIOUOZEE	OFS First Office Fuel Surcharge Fee		1	Ψ2,103.00	ΨΣ,1 00.00	1 ∂.00 /0	\$58.06	\$58.06
Oldie Of T L	720-00 I-12-1	Or o'r mat omice		or or hot office ruler outcharge ree		1				ψ50.00	ψ50.00
i e											

US Communities	4400003403	Herman Miller Inc	HA-TH-44.	Trash Bin, 4-Pack	AB	25	\$152.00	\$3,800.00	33.00%	\$101.84	\$2,546.00
US Communities	4400003403	Herman Miller Inc	HA-TH-40.	Trash Bin, 4-Pack	AB	25	\$228.00	\$5,700.00	33.00%	\$152.76	\$3,819.00
US Communities	4400003403	Herman Miller Inc	DU6ATS.3066LC	Rectangle Table with T-Foot	ΙE	2	\$3,024.00	\$6,048.00	61.73%	\$1,157.28	\$2,314.57
US Communities	4400003403	Herman Miller Inc	DU6ATS.3672WE	Rectangle Table with T-Foot	ΙE	1	\$4,351.00	\$4,351.00	61.73%	\$1,665.13	\$1,665.13
US Communities	4400003403	Herman Miller Inc	DU6ATS.3672WE	Rectangle Table with T-Foot	ΙE	1	\$4,351.00	\$4,351.00	61.73%	\$1,665.13	\$1,665.13
US Communities	4400003403	Herman Miller Inc	DU6ATS.3672WE	Rectangle Table with T-Foot	ΙE	1	\$4,351.00	\$4,351.00	61.73%	\$1,665.13	\$1,665.13
US Communities	4400003403	Herman Miller Inc	DU6ATS.3084LE	Rectangle Table with T-Foot	ΙE	1	\$3,887.00	\$3,887.00	61.73%	\$1,487.55	\$1,487.55
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	2	\$3,825.00	\$7,650.00	61.73%	\$1,463.83	\$2,927.66
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	2	\$3,825.00	\$7,650.00	61.73%	\$1,463.83	\$2,927.66
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	3	\$3,825.00	\$11,475.00	61.73%	\$1,463.83	\$4,391.48
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	8	\$3,825.00	\$30,600.00	61.73%	\$1,463.83	\$11,710.62
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	2	\$3,825.00	\$7,650.00	61.73%	\$1,463.83	\$2,927.66
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	2	\$3,825.00	\$7,650.00	61.73%	\$1,463.83	\$2,927.66
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	2	\$3,825.00	\$7,650.00	61.73%	\$1,463.83	\$2,927.66
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	4	\$3,825.00	\$15,300.00	61.73%	\$1,463.83	\$5,855.31
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	3	\$3,825.00	\$11,475.00	61.73%	\$1,463.83	\$4,391.48
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	2	\$3,825.00	\$7,650.00	61.73%	\$1,463.83	\$2,927.66
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	3	\$3,825.00	\$11,475.00	61.73%	\$1,463.83	\$4,391.48
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	5	\$3,825.00	\$19,125.00	61.73%	\$1,463.83	\$7,319.14
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	5	\$3,825.00	\$19,125.00	61.73%	\$1,463.83	\$7,319.14
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	4	\$3,825.00	\$15,300.00	61.73%	\$1,463.83	\$5,855.31
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	7	\$3,825.00	\$26,775.00	61.73%	\$1,463.83	\$10,246.79
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	4	\$3,825.00	\$15,300.00	61.73%	\$1,463.83	\$5,855.31
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	1	\$3,825.00	\$3,825.00	61.73%	\$1,463.83	\$1,463.83
US Communities	4400003403	Herman Miller Inc	DU6ATS.3072LE	Rectangle Table with T-Foot	ΙE	3	\$3,825.00	\$11,475.00	61.73%	\$1,463.83	\$4,391.48
US Communities	4400003403	Herman Miller Inc	DU6ATS.3060LE	Rectangle Table with T-Foot	ΙE	2	\$3,704.00	\$7,408.00	61.73%	\$1,417.52	\$2,835.04
US Communities	4400003403	Herman Miller Inc	DU6ATS.3054LE	Rectangle Table with T-Foot	ΙE	1	\$3,643.00	\$3,643.00	61.73%	\$1,394.18	\$1,394.18
US Communities	4400003403	Herman Miller Inc	DU6ATS.3048LE	Rectangle Table with T-Foot	ΙE	10	\$3,585.00	\$35,850.00	61.73%	\$1,371.98	\$13,719.80
US Communities	4400003403	Herman Miller Inc	DU6ATS.3048LE	Rectangle Table with T-Foot	ΙE	2	\$3,585.00	\$7,170.00	61.73%	\$1,371.98	\$2,743.96
				-							
		Total for US Com	munities Contract 4400	003403:				\$373,434.00			\$145,642.54
							_			_	
		Herman Miller Inc	StudioCraft - Custom	Main Licensing Counter 46' Long		1	\$55,100.00	\$55,100.00	24.00%	\$41,876.00	\$41,876.00
			StudioCraft - Custom	Board desk		1	\$26,631.00	\$26,631.00	23.50%	\$20,372.72	\$20,372.72
State of FL	425-001-12-1	Herman Miller Inc		+FRAME,BARE 30H 42W	U	1	\$171.00	\$171.00	65.77%	\$58.53	\$58.53
State of FL	425-001-12-1	Herman Miller Inc		+SIDE COVER,2 RECEPS 1 COMM PORT 42	U	1	\$77.00	\$77.00	65.77%	\$26.36	\$26.36
State of FL	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 24H 42W	U	1	\$612.00	\$612.00	65.77%	\$20.30	\$209.49
Joiate of 1 L	720-001-12-1	i icililali ivillici IIIC	L 177U.2772	SOLADDING ANGITTINE, VIVIN 2411 42W	U	'	φυ12.00	ψ012.00	00.11/0	Ψ203.43	Ψ203.43

State of FL	425-001-12-1	Herman Miller Inc	E1446.3042	@CLADDING ARCHTRL,VNR 30H 42W	U	1	\$710.00	\$710.00	65.77%	\$243.03	\$243.03	
State of FL	425-001-12-1	Herman Miller Inc	E1109.3824X	+FRAME,BARE 38H 24W	U	1	\$163.00	\$163.00	65.77%	\$55.79	\$55.79	
State of FL	425-001-12-1	Herman Miller Inc	E1263.24J	+SIDE COVER,2 RECEPS 1 COMM PORT 241	U	1	\$56.00	\$56.00	65.77%	\$19.17	\$19.17	
State of FL	425-001-12-1	Herman Miller Inc	E1446.3224	@CLADDING ARCHTRL,VNR 32H 24W	U	1	\$682.00	\$682.00	65.77%	\$233.45	\$233.45	
State of FL	425-001-12-1	Herman Miller Inc	E1446.3824	@CLADDING ARCHTRL,VNR 38H 24W	U	1	\$747.00	\$747.00	65.77%	\$255.70	\$255.70	
State of FL	425-001-12-1	Herman Miller Inc	E1109.3842X	+FRAME,BARE 38H 42W	U	2	\$199.00	\$398.00	65.77%	\$68.12	\$136.24	
State of FL	425-001-12-1	Herman Miller Inc	E1263.42J	+SIDE COVER,2 RECEPS 1 COMM PORT 421	U	2	\$77.00	\$154.00	65.77%	\$26.36	\$52.71	
State of FL	425-001-12-1	Herman Miller Inc	E1446.3242	@CLADDING ARCHTRL,VNR 32H 42W	U	2	\$768.00	\$1,536.00	65.77%	\$262.89	\$525.77	
State of FL	425-001-12-1	Herman Miller Inc	E1446.3842	@CLADDING ARCHTRL,VNR 38H 42W	U	2	\$833.00	\$1,666.00	65.77%	\$285.14	\$570.27	
State of FL	425-001-12-1	Herman Miller Inc	E1120.38	+DRAW ROD 38H	U	3	\$23.00	\$69.00	65.77%	\$7.87	\$23.62	
State of FL	425-001-12-1	Herman Miller Inc	E1322.06E	+POWER ENTRY,EXT. DIR CON 4-CIRC,6FT	U	1	\$171.00	\$171.00	65.77%	\$58.53	\$58.53	
State of FL	425-001-12-1	Herman Miller Inc	E1210.38	+WALL START 38H	U	2	\$111.00	\$222.00	65.77%	\$38.00	\$75.99	
State of FL	425-001-12-1	Herman Miller Inc	E1224.38WSE	@CONN,2-WAY 90,MONO VENEER,PWR 38ł	U	2	\$537.00	\$1,074.00	65.77%	\$183.82	\$367.63	
State of FL	425-001-12-1	Herman Miller Inc	E1251.08W	@CHG OF HT FIN END VNR 8H	U	1	\$158.00	\$158.00	65.77%	\$54.08	\$54.08	
State of FL	425-001-12-1	Herman Miller Inc	E1260.24B	@TOP CAP,FRAME VNR ARCHTRL 24W	U	1	\$174.00	\$174.00	65.77%	\$59.56	\$59.56	
State of FL	425-001-12-1	Herman Miller Inc		@TOP CAP,FRAME VNR ARCHTRL 42W	U	3	\$208.00	\$624.00	65.77%	\$71.20	\$213.60	
State of FL	425-001-12-1	Herman Miller Inc		+15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL	425-001-12-1	Herman Miller Inc		+15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL	425-001-12-1	Herman Miller Inc		+15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	Ū	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL	425-001-12-1	Herman Miller Inc		+RECT SURF,SQ-EDGE,LAM TOP/THERMO	Ü	1	\$221.00	\$221.00	65.77%	\$75.65	\$75.65	
State of FL	425-001-12-1	Herman Miller Inc		+RECT SURF,SQ-EDGE,LAM TOP/THERMO	U	1	\$515.00	\$515.00	65.77%	\$176.28	\$176.28	
State of FL	425-001-12-1	Herman Miller Inc		+FLO SNGLE-SCREEN MONITOR ARM SUPF	Z2	3	\$332.00	\$996.00	55.27%	\$148.50	\$445.51	
State of FL	425-001-12-1	Herman Miller Inc		@COUNTER TOP,CORIAN,DBL RECT END 8	U	1	\$4,897.00	\$4,897.00	65.77%	\$1,676.24	\$1,676.24	
State of FL	425-001-12-1	Herman Miller Inc		+PED,MOBILE,STD PULL,B/F 15W 22D	MP	1	\$680.00	\$680.00	53.15%	\$318.58	\$318.58	
State of FL	425-001-12-1	Herman Miller Inc		+FRAME,BARE 38H 30W	U	8	\$180.00	\$1,440.00	65.77%	\$61.61	\$492.91	
State of FL	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 30H 30W	U	8	\$650.00	\$5,200.00	65.77%	\$222.50	\$1,779.96	
State of FL	425-001-12-1	Herman Miller Inc		+TILE,CABLE ACCESS,RCP/COMM PT LOC,I	U	8	\$136.00	\$1,088.00	65.77%	\$46.55	\$372.42	
State of FL	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 38H 30W	U	8	\$775.00	\$6,200.00	65.77%	\$265.28	\$2,122.26	
State of FL	425-001-12-1	Herman Miller Inc		+FRAME,BARE 38H 36W	U	9	\$186.00	\$1,674.00	65.77%	\$63.67	\$573.01	
	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 30H 36W	U	9	\$678.00	\$6,102.00	65.77%	\$232.08	\$2,088.71	
State of FL					U	9						
State of FL	425-001-12-1	Herman Miller Inc		+TILE,CABLE ACCESS,RCP/COMM PT LOC,I	U	9	\$143.00	\$1,287.00	65.77%	\$48.95	\$440.54	
State of FL	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 38H 36W	_		\$800.00	\$7,200.00	65.77%	\$273.84	\$2,464.56	
State of FL	425-001-12-1	Herman Miller Inc		+FRAME,BARE 30H 42W	U	2	\$171.00	\$342.00	65.77%	\$58.53	\$117.07	
State of FL	425-001-12-1	Herman Miller Inc		+SIDE COVER,2 RECEPS 1 COMM PORT 421	U	2	\$77.00	\$154.00	65.77%	\$26.36	\$52.71	
State of FL	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 24H 42W	U	2	\$612.00	\$1,224.00	65.77%	\$209.49	\$418.98	
State of FL	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 30H 42W	U	2	\$710.00	\$1,420.00	65.77%	\$243.03	\$486.07	
State of FL	425-001-12-1	Herman Miller Inc		+DRAW ROD 38H	U	19	\$23.00	\$437.00	65.77%	\$7.87	\$149.59	
State of FL	425-001-12-1	Herman Miller Inc		+POWER ENTRY,EXT. DIR CON 4-CIRC,6FT	U	3	\$171.00	\$513.00	65.77%	\$58.53	\$175.60	
State of FL	425-001-12-1	Herman Miller Inc		@TOP CAP,FRAME VNR ARCHTRL 30W	U	1	\$186.00	\$186.00	65.77%	\$63.67	\$63.67	
State of FL	425-001-12-1	Herman Miller Inc		@TOP CAP,FRAME VNR ARCHTRL 36W	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL	425-001-12-1	Herman Miller Inc		@TOP CAP,FRAME VNR ARCHTRL 42W	U	1	\$208.00	\$208.00	65.77%	\$71.20	\$71.20	
State of FL	425-001-12-1	Herman Miller Inc		+15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	U	2	\$197.00	\$394.00	65.77%	\$67.43	\$134.87	
State of FL	425-001-12-1	Herman Miller Inc		+15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL	425-001-12-1	Herman Miller Inc	E1311.C	+15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	U	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43	
State of FL	425-001-12-1	Herman Miller Inc	Y91171.CM	+FLO SNGLE-SCREEN MONITOR ARM SUPF	Z2	10	\$332.00	\$3,320.00	55.27%	\$148.50	\$1,485.04	
US Communities	4400003403	Herman Miller Inc	DU7A.E24C	@TABLE BASE KIT - 2 LEGS, ELEC STD RAN	ΙE	2	\$2,952.00	\$5,904.00	61.73%	\$1,129.73	\$2,259.46	
US Communities	4400003403	Herman Miller Inc	DU7A.E24C	@TABLE BASE KIT - 2 LEGS, ELEC STD RAN	ΙE	8	\$2,952.00	\$23,616.00	61.73%	\$1,129.73	\$9,037.84	
State of FL	425-001-12-1	Herman Miller Inc	FM73K.48204AAL03L	+METAL LOW CRED,OPEN W/DWRS,BAR PI	FM	4	\$2,684.00	\$10,736.00	63.75%	\$972.95	\$3,891.80	
State of FL	425-001-12-1	Herman Miller Inc	FM73K.48204ABL03L	+METAL LOW CRED,OPEN W/DWRS,BAR PI	FM	4	\$2,684.00	\$10,736.00	63.75%	\$972.95	\$3,891.80	
State of FL	425-001-12-1	Herman Miller Inc	Y91171.CM	+FLO SNGLE-SCREEN MONITOR ARM SUPF	Z2	1	\$332.00	\$332.00	55.27%	\$148.50	\$148.50	
US Communities	4400003403	Herman Miller Inc	DU6ACS.3072LE	@RECT TBL, C-FOOT,SQ-EDGE,LAM TOP/TI	ΙE	1	\$3,526.00	\$3,526.00	61.73%	\$1,349.40	\$1,349.40	
											•	

State of FL	425-001-12-1	Herman Miller Inc	F1KP-1522-BBF	+PED,FREESTD BAR PULL,PNTD FRNT B/B/	MP	1	\$774.00	\$774.00	53.15%	\$362.62	\$362.62
State of FL	425-001-12-1	Herman Miller Inc	F1KP-1522-FF	+PED,FREESTD BAR PULL,PNTD FRNT F/F	MP	1	\$747.00	\$747.00	53.15%	\$349.97	\$349.97
State of FL	425-001-12-1	Herman Miller Inc	E1130.64N	+WALL STRIP,NO WALL FASTENER 64H	U	8	\$64.00	\$512.00	65.77%	\$21.91	\$175.26
State of FL	425-001-12-1	Herman Miller Inc	FTS10.3072LS	*RECTANGULAR SURFACE,SQ-EDGE, LAM	U	3	\$513.00	\$1,539.00	65.77%	\$175.60	\$526.80
State of FL	425-001-12-1	Herman Miller Inc	E1425.1630	+TILE,RAIL 16H 30W	U	3	\$189.00	\$567.00	65.77%	\$64.69	\$194.08
State of FL	425-001-12-1	Herman Miller Inc	E1425.1642	+TILE,RAIL 16H 42W	U	3	\$227.00	\$681.00	65.77%	\$77.70	\$233.11
State of FL	425-001-12-1	Herman Miller Inc	Y7216.10	+PAPER TRAY 10W	ZZ	21	\$30.00	\$630.00	55.27%	\$13.42	\$281.80
State of FL	425-001-12-1	Herman Miller Inc	E3213.30P	+FLIP DR UNIT,B-STYLE PNTD W/LOCK 16D	U	3	\$451.00	\$1,353.00	65.77%	\$154.38	\$463.13
State of FL	425-001-12-1	Herman Miller Inc	E3213.42P	+FLIP DR UNIT,B-STYLE PNTD W/LOCK 16D	U	3	\$541.00	\$1,623.00	65.77%	\$185.18	\$555.55
State of FL	425-001-12-1	Herman Miller Inc	26-3020-3N	+FILE,FS LAT STD PULL,3 11 3/4 DWR 30W	MF	3	\$1,197.00	\$3,591.00	55.27%	\$535.42	\$1,606.25
State of FL	425-001-12-1	Herman Miller Inc	26-4220-3N	+FILE,FS LAT STD PULL,3 11 3/4 DWR 42W	MF	3	\$1,468.00	\$4,404.00	55.27%	\$656.64	\$1,969.91
State of FL	425-001-12-1	Herman Miller Inc	E1109.3824X	+FRAME,BARE 38H 24W	U	8	\$163.00	\$1,304.00	65.77%	\$55.79	\$446.36
State of FL	425-001-12-1	Herman Miller Inc	E1446.3024	@CLADDING ARCHTRL,VNR 30H 24W	U	8	\$625.00	\$5,000.00	65.77%	\$213.94	\$1,711.50
State of FL	425-001-12-1	Herman Miller Inc	E1436.0824F	+TILE,CABLE ACCESS,RCP/COMM PT LOC,I	U	8	\$116.00	\$928.00	65.77%	\$39.71	\$317.65
State of FL	425-001-12-1	Herman Miller Inc	E1446.3824	@CLADDING ARCHTRL,VNR 38H 24W	U	1	\$747.00	\$747.00	65.77%	\$255.70	\$255.70
State of FL	425-001-12-1	Herman Miller Inc	E1109.3836X	+FRAME,BARE 38H 36W	U	2	\$186.00	\$372.00	65.77%	\$63.67	\$127.34
State of FL	425-001-12-1	Herman Miller Inc	E1446.3036	@CLADDING ARCHTRL,VNR 30H 36W	U	2	\$678.00	\$1,356.00	65.77%	\$232.08	\$464.16
State of FL	425-001-12-1	Herman Miller Inc	E1436.0836F	+TILE,CABLE ACCESS,RCP/COMM PT LOC,I	U	2	\$143.00	\$286.00	65.77%	\$48.95	\$97.90
State of FL	425-001-12-1	Herman Miller Inc	E1446.3836	@CLADDING ARCHTRL,VNR 38H 36W	U	1	\$800.00	\$800.00	65.77%	\$273.84	\$273.84
State of FL	425-001-12-1	Herman Miller Inc	E1120.38	+DRAW ROD 38H	U	7	\$23.00	\$161.00	65.77%	\$7.87	\$55.11
State of FL	425-001-12-1	Herman Miller Inc		+POWER ENTRY,EXT. DIR CON 4-CIRC,6FT	U	2	\$171.00	\$342.00	65.77%	\$58.53	\$117.07
State of FL	425-001-12-1	Herman Miller Inc	E1250.38S	+FIN END,STD 38H	U	2	\$71.00	\$142.00	65.77%	\$24.30	\$48.61
State of FL	425-001-12-1	Herman Miller Inc	E1260.24B	@TOP CAP,FRAME VNR ARCHTRL 24W	U	1	\$174.00	\$174.00	65.77%	\$59.56	\$59.56
State of FL	425-001-12-1	Herman Miller Inc	E1260.36B	@TOP CAP,FRAME VNR ARCHTRL 36W	Ü	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43
State of FL	425-001-12-1	Herman Miller Inc		+15 AMP RECEPTACLE 4 CIRCUIT. DUPLEX	Ü	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43
State of FL	425-001-12-1	Herman Miller Inc	E1311.C	+15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	Ü	1	\$197.00	\$197.00	65.77%	\$67.43	\$67.43
State of FL	425-001-12-1	Herman Miller Inc		+JAW ADJ CPU HOLDER ASSEMBLY, 13 TR	Z2	7	\$238.00	\$1,666.00	55.27%	\$106.46	\$745.20
State of FL	425-001-12-1	Herman Miller Inc		+CONN,2-WAY 90 VINYL,PWR 38H	U	2	\$264.00	\$528.00	65.77%	\$90.37	\$180.73
State of FL	425-001-12-1	Herman Miller Inc		+FRAME,BARE 30H 30W	Ü	8	\$149.00	\$1,192.00	65.77%	\$51.00	\$408.02
State of FL	425-001-12-1	Herman Miller Inc		+SIDE COVER,2 RECEPS 1 COMM PORT 30	Ü	8	\$61.00	\$488.00	65.77%	\$20.88	\$167.04
State of FL	425-001-12-1	Herman Miller Inc	E1446.2430	@CLADDING ARCHTRL,VNR 24H 30W	Ü	8	\$554.00	\$4,432.00	65.77%	\$189.63	\$1,517.07
State of FL	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 30H 30W	Ü	8	\$650.00	\$5,200.00	65.77%	\$222.50	\$1,779.96
State of FL	425-001-12-1	Herman Miller Inc		+FRAME,BARE 30H 36W	Ü	8	\$157.00	\$1,256.00	65.77%	\$53.74	\$429.93
State of FL	425-001-12-1	Herman Miller Inc		+SIDE COVER,2 RECEPS 1 COMM PORT 36	U	8	\$67.00	\$536.00	65.77%	\$22.93	\$183.47
State of FL	425-001-12-1	Herman Miller Inc	E1446.2436	@CLADDING ARCHTRL,VNR 24H 36W	U	8	\$579.00	\$4,632.00	65.77%	\$198.19	\$1,585.53
State of FL	425-001-12-1	Herman Miller Inc		@CLADDING ARCHTRL,VNR 30H 36W	U	8	\$678.00	\$5,424.00	65.77%	\$232.08	\$1,856.64
State of FL	425-001-12-1	Herman Miller Inc		+DRAW ROD 30H	U	4	\$23.00	\$92.00	65.77%	\$7.87	\$31.49
State of FL	425-001-12-1	Herman Miller Inc		+POWER ENTRY,EXT. DIR CON 4-CIRC,6FT	U	4	\$171.00	\$684.00	65.77%	\$58.53	\$234.13
State of FL	425-001-12-1	Herman Miller Inc		*RECTANGULAR SURFACE,SQ-EDGE, LAM	U	4	\$513.00	\$2,052.00	65.77%	\$175.60	\$702.40
State of FL	425-001-12-1	Herman Miller Inc		@CONN,2-WAY 90,MONO VENEER,PWR 30ł	U	8	\$500.00	\$4,000.00	65.77%	\$171.15	\$1,369.20
State of FL	425-001-12-1	Herman Miller Inc		@FIN END,VNR ARCHTRL 30H	U	8	\$236.00	\$1,888.00	65.77%	\$80.78	\$646.26
State of FL	425-001-12-1			@TOP CAP,FRAME VNR ARCHTRL 30W	U	8	\$186.00	\$1,488.00	65.77%	\$63.67	\$509.34
		Herman Miller Inc		•	-						· ·
State of FL State of FL	425-001-12-1	Herman Miller Inc		@TOP CAP,FRAME VNR ARCHTRL 36W +15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	U U	8	\$197.00 \$197.00	\$1,576.00 \$304.00	65.77% 65.77%	\$67.43 \$67.43	\$539.46 \$134.87
	425-001-12-1	Herman Miller Inc				2		\$394.00 \$394.00			
State of FL State of FL	425-001-12-1 425-001-12-1	Herman Miller Inc		+15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX +15 AMP RECEPTACLE 4 CIRCUIT, DUPLEX	U U	2 2	\$197.00 \$197.00	\$394.00 \$394.00	65.77%	\$67.43 \$67.43	\$134.87 \$134.87
State of FL	420-001-12-1	Herman Miller Inc	E1311.U	+13 AIVIP RECEPTAGLE 4 CIRCUIT, DUPLEX	U	2	\$197.00	\$394.00	65.77%	\$67.43	\$134.87
		Total for State of	Elorida Harman M:II	er Contract 425-001-12-12 and Proprietary Items:		1	Г	\$250 965 AA		Г	\$126 920 14
		TOTAL TOT STATE OF	i ioriua nerilian Mill	er Contract 420-001-12-12 and Proprietary Items:		l	L	\$259,865.00		L	\$126,839.14
1											

 Safco Products
 4960
 Safco Steel Roll Files
 10
 \$623.00
 \$6,230.00
 \$445.00
 \$4,450.00

Safco Products 4960	Safco Steel Roll Files	4	\$623.00	\$2,492.00	\$445.00	\$1,780.00
Safco Products	Safco Products Freight Charge	1	\$0.00	\$0.00	\$0.00	\$0.00
Doug Mockett & Co HK21	HK21 ROTATING PURSE HOOK; FINISH: WHITE (95)	7	\$50.00	\$350.00	\$55.57	\$388.99
Prof Systems Instal Custom File Base	Custom File Base	1	\$1,130.00	\$1,130.00	\$1,384.62	\$1,384.62
Total for Non-Contract Items:				\$10,202.00		\$8,003.61
			_		<u>-</u>	
Total Furniture Purchase:			4	51,738,427.00		\$754,599.65